MATH 151.02 GROUPWORK 2 October 6, 2009

NAMES:

1.(3pts) Let m = f(A) be the minimum annual gross income, in thousands of dollars, needed to obtain a
30-year home mortgage loan of 4 thousand dollars at an interest rate of 6 percent. What do the following
quantities represent in terms of the income need for a loan? !
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2.(4pts) A tree of height y meters has, on average, B branches, where B = y — 1. each branch has, on

average, n leaves, where n = 2B% — B. Find the average number of leaves on a tree as a function of height.
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3.(4pts) Solve for t in terms of the other "variables”.
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4.(3pts) The exponentm] function y(z) =

Ce®* satisfies the conditions y(0) = 2 and y(1) = 1. Find the
constants C and a.
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5.(2pts) What is the difference between sina?, sin?z, and sin(sin ’z:)’

i composition of functions. (’\Jote sin? z is another way of writi
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6.(4pts) A baseball hit at an angle of ¢ to the horizontal with an initial velocity vy has a horizontal range
R given by

F‘.\:press each of the three as a

R = 2 sin(20)

where g is the acceleration due to gravity

(a) Sketch R as a function of 8 for 0 < 0 <
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(b) What angle gives the maximum rang(-.':’ What is the maximum range

9= gives Abe mascimsrn roduce of R
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